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Answer any five questions : 5x20=100

1. (a) Describe with block diagram, the
operating principles of a conventional
pulse radar with a superheterodyne
receiver.

(b)) What are meant by PPI and A-Scope
and B-Scope ?

(c) Deduce the radar range equation given

1/4
by R..= _RGAo . where the
(47 Y Smin
symbols have their usual meanings.
10+4+6

Contd.



2, PIOYSaIy} Jamo|
)M SULIR[R 9S[B] Uaam}aq duif)
oferoae gupnsal ayy sI yeym ‘M
1red up punoj anfea 3y} uey) gpe-0
Aq 1omO[ 19s A[enjoe s poysaiy)
oy} ‘suoseal dwos 10] g :[M)
1red se san[eA] aw) ULIR[E 3S[E]
UNUOE B AR 0) }3S 2 0] ST Ofel
9SI0U-0}-ploysaly) Iy} swnssy M

o
m. ﬁlﬁw oﬁfuvaoa
A
z A

asfou 0} ploysaiyj ayj st jeym (M)

& urere
osrej Jo Amqeqoxd ay) st yeym ()

ZHWP-0 St yipmpueq
IDAI9021 9} pue upuQg Se payads si
SULIE[e 9S[B] U2aM)2q W) 9FRISAR YL

*98ej[0A ploysaIy)
uo uopP9ep jo Aqeqoid pue uLele
asrej jo Aynqeqoxd jo sapuapuadap
oy) ssnosip pue Aqreoryders moys

‘NOMV Jo 2ouasaxd ug
LA a8ejoa ploysary) pue y spnjydure
Suraey [eufis B JO. UOI}09}9p JO
Ammqeqoid 10y uorssaidxa ay) aonpad

&)

@

(0)

€ D/SNAY (018 OF) €8

't

‘sguruesur _Hmsmz eyl
aAey sjoquuks 9y, ‘ses[nd jo uoneigojul
puUB 9sjou I9A[RdI 9y} Sunesodiodur

Tz@ urtg Or1 %iw_ e
wh

Wawvood | o

uonenba
ofuel repel paypowr 3yl 2AMJ

LM Jo
safejueape Jofew oy} axe yeym ¢ sesmd

Iepel jo uopeifojul Aq juedur st Jeym

‘Sreusts
ndino pue ndur jo YNS Jo SULS) Ul
31 Jo uorssaidxo aY} 0NPa( ¢, AR
e Jo 2Ingy osjou Aq juedw SI Jeym

‘AoeInooe Jo 22139p

A1ojoejspes e 0} Juawdmbs reper renjoe

jo soueunopad ofuer 9y3 jJorpaid jou
S %)

S0P ﬁﬂuolumg ué&ﬁoﬁ&ﬂg
v/

Jfuel Jepel uﬁﬁ.hm oy Aym urerdxyg

(P)

)

(@

)

(4 D/SNI (018 O3J) €S

G




001 S

01+01 *Aouanbaiy
o[Surs e uey) Jayjel sajouanbaiy
pasoo om} Sursn Aq pasoxdur
oq ueo jofre} ayj jo afuer Iy eyl

moys ‘uopyenbo Aressadsu oY) UL

J, JOAIQ021 J] 0I19Z-uou
Sursn 2W00I9A0 A1) 91 Moy ureigep
}oo[q Aressodou UM SSNOSIP ALres[o
puUe IoA[2091 J] 019Z mm Iepel woddoq
MO Jo sw[qoid ufewr Yy} aIe jeym

O+¥1 ‘TeuSs oy jo Aouanbayy
uonneadal asind Surdrea uisn Aq auop
2q uBd S20YJd punore-awp-s(dpnur
Surproae ja8Ie) 9y) JO jUdUIRINSEIW
ofuel 1001100 9y} moy Apreso uredxy

@

)

@

D/SNTY (018 03F) €S

‘way) Jo
yoeo ure[dxy ¢ WoISAS Iepel uj sasso|
wa)sAs Jo sadf) Juaisyip Iy} are Jeym

9+G+(F+2+€)

‘romod IonTUISUERI) [B0)
o) uo spuadop ofuel snongiqureun
wnuxew 2y} mMmoy ‘Ie[nurioj
Aressaoou 9y} SUPNPLIP YIM 2quISaJ

‘Sus[eAem Ul painseaur
20URIOJUNAIP S YIm Surhrea d1oyds
B JO UO[}09§-SSOI0 Jepel pazijeuliou
a1) moy ssnasip pue Aqreorydeis moys

*U0[}02)op
jo81e) 10] pasn si Aduanbayy 1amo|
pue Supsedsa1oj I9yjeam 10j Tepel e Aq
pesn usaq sey Aouonbayy 1oySy Aum
urerdxy ¢ 1981e) B Jo suoidal Surejeds
JURIRIP 9y} oI JByM ¢ 1981e} B Jo
UON09S-§S010 Tepel AQq juesw si JeyMm

OI+¥+9 4 gre0
Aq 9sea1oul 0] aIam ploysaiyj
oY) JI swie[e 3S[B] U23IMI3q
ou) ofeloAe oy} 2q pnom jeymM (@)

D/SNAY (018 Od) €S

0y

©)

@

)




